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General Section - 20 Questions

Each question carries 1 mark

UdF T 13+ &

Q1 Rearrange the following sentences |, II, III, IV, V in the proper sequence so as to form a

meaningful paragraph, then answer the question given below.

L. of many artists

IL. those who impressed me the most

IL. [ saw as a child

IV. but those with unique personalities off stage
V. were not always the successful ones

Which is the correct sequence?
A. [-11-V-IV-111
B. [-II-11-V-1V
C. II-11-1-V-1V

D. [1-V-IV-I-111

Q.2 Select the word that is opposite in meaning to the word PARSIMONIOUS:

A. pertinent
B. spendthrift
C. faltering

D. plausible

Read the following passage and answer the questions (Q. 3 to Q. 4) given below

A majority of Indians prefer to use the internet for accessing banking and other financial services
than shopping online, shows a new survey. Almost 57% of Indian respondents using the internet
prefer to bank online and use other financial services due to hassle-free access and time saving
feature of online banking according to the survey. Checking information on products and services
online comes a close second at 53% while 50 % shop for products online. The fourth on the list-
around 42% of respondents in India surfed online to look for jobs, the survey said. Online banking
has made things much easier for the people and it saves a lot of time. It has eliminated the
problems associated with traditional way of banking where one had to stand in a queue and fill
up several forms. Most of the banks in India have introduced customer-friendly banking facility
with advanced security features to protect customers against cybercrime. The easy registration
process for net banking has improved customers’ access to several banking products, increased
customer loyalty, facilitated money transfer to any bank across India and has helped banks-
attract new customers. The Indian results closely track the global trends as well conducted
among 19216 people from 24 countries, the survey showed that banking and keeping track of
finances and searching for jobs are the main tasks of internet users around the globe.
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Overall, 60% of people surveyed used the web to check their bank account and other financial
assets in the past 90 days, making it the most popular use of the internet globally. Shopping was
not too far behind at 48%, the survey showed and 41% went online in search of a job in terms of
country preferences, almost 90% of respondents in Sweden use e-banking. Online banking has
also caught on in a big way in nations like France, Canada, Australia, Poland, South Africa and
Belgium, the survey showed. The Germans and British come on top for using online shopping
with 74% of respondents in both countries having bought something online in the past three
months. They are followed by 68% of respondents in Sweden, 65% in US and 62% in South Korea.

Q.3  According to the passage banks are able to attract more customers due to:

A. better training of sales staff.

B. opening more branches at various locations.
C. easy registration process for net banking.

D. easy rules and regulations.

Q.4  Whatis the best synonym for "hassle-free "?

A. Congenial
B. Toilsome
C. Laborious
D. Baffling

Q.5 Peacock:India:: Bear:?

II’IT:E%RFT::SJ‘IF‘[:?

A. Australia
B. America
C. Russia
D. England

Q.6  If9x+2=720 + 9% then what is the value of (4x)1/x?

Ife 9x+2=720 + 9, AT (4x)V/x T AT FIAT &7

A. 2
B. 3
C. 1
D. 4
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Q.7

Q.8

Q.9

Q.10

A cylinder and a cone are of the same base radius and same height. What is the ratio of

the volumes of the cylinder to that of the cone?

T doled AR Tk o B IR Bedr gA § AR Fu o A g1 9o 3R
AF & AT HT AT FIT &2

A. 3:1
B. 2:3
C. 1:2
D. 2:1

The sum of areas of two squares is 625m2. If the difference in their perimeter is 20m then,

what will be the sides of squares?

ar guit & &FPal T AT 6256m2 gl I 9% IRAMT H 3 20m &, ar gait &r
TV T gt

A. 10,15
B. 15, 20
C. 13, 65
D. 15, 45

Missing terms of the series 4, ?, 144, 400, 900, 1764 is:

ST 4,7, 144, 400,900, 1764 FT T TG &:

A. 25
B. 36
C. 49
D. 100

A clock is set right at 5 AM. The clock loses 16 min in 24 hours. What will be the true time
when the clock indicates 10 PM on the fourth day?

T 3 T Jag 5o A fhar 7 g1 g 246 A 16 Aot dS gy S g1 <Y
e 39 g3 T & 10 9o fe@meeft ar a8y g&77 a7 gem
A. 9 PM

B. 11 PM
C. 10:56 PM

D. 9:56 PM
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Q.11

Q.12

Q.13

Q. 14

Q.15

Q.16

Which of the following is NOT a fiscal policy tool?
farafaf@a & @ #ia a1 Ty Afa 3uewtor 78 &

A. Annual Taxation

B. Government spending

C. Open market operations

D. Subsidies of different kinds

If the price elasticity of demand is 0.8, demand is:

gfe AT $r Hreaa aiedar 0.8 § dr &9 §:

A. Perfectly elastic
B. Elastic

C. Inelastic

D. Unitary elastic

Tropic of Cancer passes through how many Indian states?

Fh Y@ fordsl AR Todt § gy IR 87

A. 6 B. 7

C. 8 D. 9

In PowerPoint, what is the standard aspect ratio for widescreen presentations?

uraidise #, agsEhle YEdfadl & AU A gge] 3eqard FT 87

A. 4:3 B. 16:9

C. 16:4 D. 3:2

If FRIEND is coded as HUMJTK, then CANDLE is coded as:
gfe FRIEND &I HUMJTK & &9 & ifsd fohar STar § dF CANDLE &F &ifsa fohar

SITUATT:
A. DCNKNG B. ECPHNG

C. EDRIRL D. ECOIMG

If 31% of a number is 46.5, the number is:

gfe fhd T&AT T 31%, 46.58, dF 98 TEAT ¢

A. 150 B. 160

C. 170 D. 180
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Q.17 Which of the following best explains the core reason LiDAR (Light Detection and Ranging)
is superior to passive remote sensing in dense forest regions?
fAefaf@d & @ #ld @ #ya o a1 &at A ATSHT gor ddeed &1 Jolelt H
LiDAR (eTge f3earer Us {Sie) & 8o 8l 1 HET HROT adldl &2

A. It can penetrate soil layers to detect sub-surface structures.

B. It uses GPS triangulation to map underground aquifers.

C. [t emits its own energy and captures terrain data even through vegetation gaps.
D. It measures magnetic field anomalies for geophysical mapping.

Q.18 The Gyan Bharatam Mission, introduced in Union Budget 2025-26, primarily aims to:

hATT FSle 2025-26 H FEIT AT HRAHA AT HT T 3827 &

A. Establish a centralized digital library for all ancient Indian manuscripts

B. Digitally preserve only Sanskrit and Pali manuscripts in India

C. Surveying, documenting, and conserving India’s vast manuscript heritage.

D. Replace the National Mission for Manuscripts (NMM) with a new autonomous
body

Q.19 Select the set of numbers that is similar to the following set of numbers: (3, 5, 7):

Tt & 38 g 1 94T Y Sl AedAfai@d §&anst (3,5,7) F Hg & A ¢

A. (29,35, 41)
B. (23,29,31)
C. (19,21, 13)
D. (11,13, 19)

Q.20 Choose the Venn diagram from the given options that best represents of the relationship
amongst the following classes: Clerk, Male, Permanent Employee
feT av f[Aehedl # @ 3 3N Yol S AT gt & e Fel f o 95
&I F ST & Folsh, qo9, TURA FHA=
OO0 (o
€ D.

©
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Q.21

Q.22

Q.23

Q.24

Post Related Section: 30 Questions
Each question carries 1 mark

UAF JoT &1 3% &

Young's modulus of elasticity Y is expressed as Y = c®hPGY, where G is gravitational
constant, h is Plank’s constant and c is speed of light. Which of the following is the correct
option?

T FT TIREAAT ATYH (Y) A Y = cchfGY & & & =yad fmar Siar § S&r G
TecarehyuT &R 8, h tleh T8 § 3R ¢ geprer 1 1fa g1 fietfoi@a # & &l
ar faseT TEr 87

A. a=7,=-1,y=-2
B. a=-7,=-1,y=-2
C. a=7,=-1,y=2

D. a=-7,B=1,y=-2

Two objects A and B are placed at 15 cm and 25 cm from the pole in front of a concave
mirror which is having a radius of curvature 40 cm. The distance between images formed
by the mirror is:

ar gV A3 BUF JHadd guuT & A g ¥ 15 W 3R 25 @ @ g W @
S g, Toraer aghar Fsam 40 BT §1 GUUT GaRT IS 9 ofddt & &g # gl &

A. 60 cm

B. 40 cm
C. 160 cm
D. 100 cm

Which one of the following has the highest acidity?
frafafaa & @ forad g9 #f8® Fegar g7

A CNCH.COOH
B. CICH.COOH
C FCH.COOH
D 02NCH.COOH

In Vander-Waal equation, the term which accounts for intermolecular forces is:

AesT-aTel FHHOT &, IHATIM0ES el & v fFFeR 1 &

A. az/V2
B. b

C. b/V2

D. a/Vz
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Q.25

Q.26

Q.27

While covering a distance of 40 km, A takes 2 hours more than B. If A doubles his speed,
he would take 1 hour less than B. If a and 8 denote the speeds of A and B, respectively,

then 3a+p is equal to:

40 fopelt &1 gl o A F A, BE 26 3T FHAT o g1 IS A 3=l a1y Srepeir
X ¢, dl 38 BH 19T A THAT o] IfE a IR pwaAT: AJR BT aifa &
g € 3o+ IR &:

A. 30
B. 40
C. 50
D. 60

On selling a washing machine and a refrigerator, at 5% and 10% profits, respectively, a
shopkeeper gains Rs. 2000. But if he sells the washing machine at 10% profit and the

refrigerator at 5% loss, he gains Rs.1500. What is the actual price of the refrigerator is?

Teh GehleIGR Teh alia &HleT 3R U UMhoRex &I shAer: 5% 3R 10% ST T SThT
2000 I FT AT HATAT g1 fhd 3R gg areer JAMT & 10% o1 W 3R
IFeEX A 5% gIfed W STdT g, df 38 1500 39T HI oTH gIar &l IhoRex Hr
arEdfash HAT FAT §?

A 7000
B. 8500
C. 10000
D. 12500

Rate of hydration (slaking) does not depend on:

SToraSTeT &7 &X (Taifdher) AR &7 Feah &

A. Degree of burning of lime
B. Degree of agitation

C. Atmospheric conditions
D. Composition of lime
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Q.28

Q.29

Q.30

Q.31

Q.32

A soil has bulk density of 20.1 KN/m3 and water content 15%. What is the water content

if the soil partially dries to a density of 19.4 kN/m3 and the void ratio remains unchanged?

T fACE &1 A geica 20.1 kN/m3 § 3R 9=t dr A=r 15% g1 afe fAeer nfew
T H @A 194 kN/m? gefed R 9gd Sl § 3R 7 Fqara rRafda war g,
dr arelt @ AT R gl

A. 10.86%
B. 10.66%
C. 11.86%
D. 11.66%

Calculate long term modulus of elasticity of concrete (N/mm?2) of grade M25 where the
loading is done after 28 days. (Take creep coefficient 1.6)

IS M25 % Hhlc & GIEhlol TcIEddT AIh (N/mm2) T I0TAT Y ST aAlfaar
28 f&ail & q1g FI AT g1 (1T HIVTHIATC 1.6 o)

A. 9615.4 B. 7812.5

C. 11904.76 D. 25000

What is transporting agent in case of aeolian soil?
argg #HaT & AHA # qRdgel Tsic &1 §?

A. Running water B. Wind
C. Ice D. Gravity
What is the value of headlight sight distance for a highway with a design speed of 65

kmph? (Take, Friction coefficient = 0-36 and Reaction time = 2-5 sec)

65 forel gfy a¢ &7 fSose a1fq arer TotATT & T gselse Tfse gl & A &
&7 (G¥oT Ui = 0-36 3R FfAfRAT THT = 2.5 83 o)

A. 66.5 m B. 81.3m

C. 914 m D. 182.8 m

Aline AB between the stations A and B was measured as 348.28 m using a 20 m tape, too
short by 0.05 m. What is the correct length of line AB?

TEUA AR B o T ASA AB &l 20 HIeX ST &l 3TIIT dleh 348.28 HeX ATIT
I, ST 0.05 HeT FA g1 S5 AB HI HEl oIS FAT g7

A. 349.15m
B. 34841 m
C. 347.41m
D. 346.15m
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Q.33

Q.34

Q.35

Q.36

Q.37

Which one of the following consists of horizontal and vertical location of certain points
by linear and angular measurements and is made to determine the natural features of a
country?

PrfafRa & & F7 a1 79 R I FohT A1t qar Fo Mgyt f & IR
Franr feufa & afar ¢ 3R el gor f arsfaes faRvant @ feifa & &
forT S=Tra a2 &7

A. Cadastral survey B. Topographical survey

C. Astronomical survey D. Military survey
Which one of the following statements is NOT correct regarding the relationships

between bending moment, shear force and applied load?

a9 AT (bending moment), AT e (shear force), 3R o9 A (applied load)
& dg & GO H Aafaf@a & & &l a1 F2T g1 787 87

A. The rate of change of shear force along a beam is equal to the distributed load

B. The rate of change of bending moment along a beam is equal to the shear force

C. The rate of change of bending moment along a beam is equal to the distributed
load

D. The shear force and bending moment at free end is always zero

M; profile is indicated by which of the following conditions? (Where, y - actual flow depth;

y.— critical depth and y, - normal depth)

M; Wrsel &1 fReafaf@a & & fra fRufa garr g smar €2 (3@l y - aedfas

Udlg d|5{|é; yC-Hscdl-lc\U(I dIG{Ié 3R yo - ATHTCT WE’{'?')

A. Yo>ye>y B. y>Yyo>ye

C. Ye>Yo>y D. Y >Ye>Yo

The delta of a crop having base period 120 days is 70 cm. What will be it’s duty?

120 &7 &1 3R 37afer arell Ush BHel T Secl 70 WHT &1 SHAT SE AT gram?

A. 2400 hectare/cumec B. 1481 hectare/cumec
C. 1200 hectare/cumec D. 600 hectare/cumec

Which one is the velocity of flow in canal given by Lacey?
Y GaRT AT IRAT e H YaTg HT A HeT AT ?

A. V=10.8*R2/3*51/2 B. V=10.8*R2/3*51/3
C. V=10.8*R2/3*S53/2 D. V=10.8*S1/3*R3/2
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Q.38

Q.39

Q. 40

Q.41

Q.42

A water sample has total hardness and alkalinity as 300 and 100 mg/L, then find out

carbonate and non-carbonate hardness (in mg/L):

Teh Siel #3e & el HORAT IR &I H#AM: 300 3R 100 mg/L &, A Frelae

3R R-wrEfac d T FoRAT ATd HFAT (mg/L #7):
A 100 and 200 B. 200 and 100

C. 400 and 300 D. 400 and 0
What is sound level of the following? 50 dB + 50 dB + 53 dB

fAFafaf@a &1 «afa Tax =ar g2 50 dB+ 50 dB + 53 dB

A. 153 dB B. 106 dB
C. 56 dB D. 109 dB
A simply supported steel beam of 8 m long and subjected to a uniformly distributed load
of 10 kN/m. What is the maximum bending stress of the member at a distance of 50 mm

from the neutral axis? (Take [= 10x10> mm?*)

8 #Hiex oelY Teh ATaRYT AT T I 59 W 10 kN/m &7 ThaA fadalkda )
¢l deTy a7 @ 50 fAR AT g W HeET FT HARdH Thod Yfddel FAT g7
(I= 10x105 mm* of)

A 400 N/mm? B. 4000 N/mm?

C. 800 N/mm? D. 8000 N/mm?

Which one of the following is NOT required for concrete mix design?

Fehre AT Bosa & fov eafaf@a & & Far mawgs A6 &7

A. Maximum free water-cement ratio by weight
B. degree of workability of concrete

C. Initial setting time of cement

D. Maximum/minimum cement content

The most suitable type of equipment for compaction of cohesive soil is:

THSTh Hel & Hoeldl & [0 Fad 3G YR HT 3TRI0T &

A. Smooth wheeled roller B. Vibratory roller
C. Sheep foot roller D. Tampers
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Q.43

Q. 44

Q.45

Q. 46

No super elevation is provided on a curve section of a highway (single lane road) then
which section of highway requires maximum repair work.

frdl TSTHART (Thdl o TSH) & dh W3 W s ATd3ea1de] Ul gl fhar ar=r
g, dl TorAnt & forg @3 # HUSdH AFAT S T HaeITHAT ¢

A. Centre portion of curve

B. Outer portion of curve
C. Inner portion
D. All location requires same amount of repair work

In an unconfined compressive strength test on stiff clay, if failure plane made an angle of

52 degree to the horizontal, what would be the angle of shearing resistance?

FoR AT W e fdefad adisa afda olator #, 3fe fawerdar aa éifast & 52
33 T T FATAT §, A HAT GTAAY HT HIOT FAT am?

A. 14 degree B. 16 degree
C. 12 degree D. 13 degree

Which one of the following statements is NOT correct?

Trafaf@d & @ Fi9 a1 FIT TE T8 D

A. The influence lines are constructed for establishing the maximum design forces

at critical sections produced by moving loads

B. As a moving load passes over a structure, the internal forces at each point in the

structure do not vary

C. To ensure the safety of a structure, the capacity of section should be greater than

or equal to all the combination of loads

D. The maximum deflection occurs at the centre of a simply supported beam, when
a concentrated load applied at the mid-span

Which one of the following does NOT affect the permeability of soils?
ferafaf@a & & @l a1 Fer f IReEIar H gHaT FET AT 87

A. Void ratio
B. Soil strength
C. Grain size
D. Temperature
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Q.47

Q.48

Q.49

Q.50

Which one of the following conditions is correct for a channel to behave in true regime?

Fafaf@a & @ Fia & U & I F o IgEAT § UIgR A & fov
e 87

A. Discharge is non-uniform
B. Flow is non-uniform

C. Silt grade is varying

D. Silt charge is constant

The water is flowing with a velocity of 1.5 m/s in a pipe of length 2500 m and diameter
500 mm. A valve is provided at the end of the pipe. What is the rise in pressure if the valve
is closed in 25 seconds? (Take velocity of pressure wave is 1460 m/s)

2500 Hex das AR 500 HHT I arer 98T H U 1.5 HeyAHs & AT F 98
QT 81 9159 & 3 A TH dled o9 §IT §l AR dled F 25 qhs H §g e
ST @ gard & fohcell gefer glaf? (GaTa a’ar ol 9T 1460 HIEY/Ahs AT o)

A. 15 N/cm?

B. 1500 N/cm?2
C. 150 N/m?
D. 15 kN/m?

Which of the following is the correct formula for Gross irrigation requirement?

Tehel TS 3MaeTehar & v Fefaf@d F ¥ Sl @ g7 @@ &

A. Cu-Re

B. CIR + leaching losses

C. NIR/Na

D. FIR/Nc

What is the maximum area for tension reinforcement in a beam?
Teh §IFH A TAd Gedrnol & AT 3iftehas & & g7

A 2%

B. 4%

C. 6%

D. 8%
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SPACE FOR ROUGH WORK
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